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Problem 3.1

Part ¢ continued

Define Variables

1; %mass

1; %stiffness

.1;%damping

linspace(-10,10,2000); %Frequency Rads/s

=< X =
nm mn n

Define Equations of Amplitude and Phase as fuctions of w

A=1./((y.*w)."2 +(-m.*w.*2+k).”2).".5;
phi = atan2(-y.*w, (-m.*w.”2+k));

Plot equations

Plot the Amplitude as a function of frequency

figure(1)

axis([-10,10,-1,12])
plot(w,A,'b","LineWidth",2)
title('Amplitude vs. Frequency')
ylabel('A")

xlabel('\omega Frequency Rads/s')
grid on
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Plot the Phase as a function of frequency o

figure(2)

axis([-10,10,-4,4])
plot(w,phi,'b"',"LineWidth",2)
title('Phase Shift (\phi) vs. Frequency')
ylabel('\phi (Radians)')

xlabel('\omega Frequency Rads/s')

grid on
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